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 The vector V2 is clockwise/counterclockwise from V1 ?

f

V2




Line intersection  =—=

e Cross Product :

1 X 2=det|1 2|=12— 2 1=1111 ;i
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V2 \41
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e Cross Product :

1x 2=(1- 0)x(2=-0)=(1-0)(2-0)-(2-0)( 1- o)

N NG S |

vz \41

tx 2<0 1x 2>0




Line intersection  =—=

e Cross Product :

1(2,4) ?
Vi \ 2(4, 2)

V2

0(0,0)

1x 2=(1=-0)x(2-0)=(2-0)(2-0)-(4-0)(4-0)=-12
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Line intersection ===

 Line intersection problem
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Line intersection ===

 Two situation
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LLine intersection g
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e Cross Product :

Cox 1)-Cox 2)=7




=

LLine intersection g
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e Cross Product :

Cox 1):-Cox 2)<0
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» Cross Product :

Cox 1)-Cox 2)<0
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e Cross Product :

((z2- 1) x(3- 1)) (Cz2- 1) x(4- 1))<0&&((4-3)x(1-3))-(a-3)x(2- 3))<
0

cmmrmed A lhvs ~01010
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» Cross Product :
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e Cross Product :

1

(4- 3) x (2 - 3)= 0
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e Cross Product :

1

xmin(3, 4) < x2 < xmax(3,4) && ymin(3, 4) < y2 < ymax(3,4)
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Line intersection ===

 Two situation
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UVa 191 - Intersection




Convex Hull g
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http://www.csie.ntnu.edu.tw/~u91029/ConvexHull.html

Convex Hull gl

sponsor

« Algorithm

— Andrew’s Monotone Chain
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Andrew’s Monotone Chain  em====

« Step1 : Sort by x
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Andrew’s Monotone Chain  em====

« Step2 : Connect points
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Andrew’s Monotone Chain  sm====

« Step2 : Connect points




Andrew’s Monotone Chain ===
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« Step3 : Use cross product 01x 02<0

(o)
I O
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Andrew’s Monotone Chain  sm====

« Step3 : Use cross product
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« Step3 : Use cross product
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Andrew’s Monotone Chain  =m====

1 8IVL sponsor

« Step3 : Use cross product




Andrew’s Monotone Chain  =m====
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« Step3 : Use cross product




Andrew’s Monotone Chain  em====
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« Step3 : Use cross product




Andrew’s Monotone Chain  =m====
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« Step3 : Use cross product
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Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product




Andrew’s Monotone Chain  sm====

« Step3 : Use cross product
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Andrew’s Monotone Chain  sem====

« Step3 : Use cross product
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« Step4 : Delete starting point
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UVa 218 - Moth Eradication




